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Installment

1. Anil promised to pay Rs 9,048 to Ramesh in 5

annual installments at the rate of 8% per

annum simple interest, then calculate the

annual installment pay by Anil?

vfuy us jes'k dks 8» çfr o"kZ lk/kj.k C;kt dh nj ls 5
okf"kZd fdLrksa esa 9]048 #i;s dk Hkqxrku djus dk oknk
fd;k] rks vfuy }kjk Hkqxrku dh xbZ okf"kZd fdLr dh
x.kuk djsa\

(a) Rs 1,560 (b) Rs 1,300

(c) Rs 1,415 (d) Rs 1,610

2. Rs 1720 to be paid in 4 equal installments in

4 years. Find each installment if rate of

interest is 5% per annum.

,d O;fDr #i;s 1720] 4 lky eas 4 cjkcj fd'rksa esa pqdkuk
pkgrk gSA izR;sd fd'r fdrus #i;s dh gksxh\ ;fn lk/kj.k
C;kt dh nj 5» gSA

(a) Rs 420 (b) Rs 520

(c) Rs 500 (d) Rs 400

3. A man wants to purchase a T.V. of Rs 9000.

He paid Rs 2200 at the time of purchasing

and rest amount will be paid in 5 monthly

installment of Rs 1400. Find Rate of

interest?

,d vkneh #i;s 9000 dh ,d Vhoh [kjhnuk pkgrk gSA
#i;s 2200 udn Hkqxrku dj nsrk gSA mlds ckn #i;s 1400
dh 5 ekfld fd'r nsrk gS vkSj Vhoh mldh gks tkrh gSA
C;kt nj Kkr djksaA

(a) 12% (b) 6%

(c) 8% (d) 10%

4. An amount of Rs 16000 which was borroewed
3 years ago hence is fully repaid in 3 annal

installment first installment is 
1

2
 of the 2nd

installment and 2nd installment is 
2

3
 of third

installment. If the simple interest is 10% per
annum. Find the value of the second
installment.

S.I. Installment/fd'r
(Practice Sheet With Solution)

#i;s 16000 dh jkf'k tks 3 o"kZ igys m/kj yh xbZ 3
cjkcj fd'rksa esa pqdkbZ tk, tks igys o"kZ ds ckn 'kq:
gksrh gSA igyh fd'r nwljh fd'r dh vk/h gSA nwljh fd'r

rhljh fd'r dh 
2

3
 gS ;fn C;kt dh nj 10» gks] rks

nwljh fd'r dk eku Kkr djks\

(a) Rs 7000 (b) Rs 6000

(c) Rs 7500 (d) Rs 6500

5. A mobile is sold for Rs 4400 cash or for Rs
2000 cash down payment together with Rs
2440 to be paid after one month. Find the rate
of interest changed in the installment scheme.

,d eksckby dks #i;s 4400 uxn ;k #i;s 2000 ds uxn
Hkqxrku rFkk #i;s 2440 ,d eghus ckn Hkqxrku dh 'krZ ij
cspk tk, rks fd'r ;kstuk ds vUrxZr C;kt dh nj Kkr
dhft,A

(a) 20% (b) 18%

(c) 15% (d) 19%

6. Rs 770 was paid in 5 years, in 5 annual
installment. If the rate of SI is 5% per annum
find out the amount of each installment.

5 o"kZ ckn ns; #i;s 770 dks 5 o"kks± esa 5 okf"kZd cjkcj
fd'rksa esa pqdk;k tkrk gSA ;fn C;kt dh nj 5» okf"kZd
gks] rks izR;sd fd'r dh jkf'k D;k gksxh\

(a) Rs 140 (b) Rs 160

(c) Rs 170 (d) Rs 180

7. The market price of refrigerator is Rs 10,000.
It is available on a cash down payment of Rs
2000 and 9 monthly installment of Rs 1000
each. Find the rate of installment.

,d izQht ij vafdr ewY; #i;s 10]000 gSA ;g #i;s 2]000
udn o 9 ekg dh #i;s 1]000 dh fd'rksa ij izkIr gksxk
rks okf"kZd C;kt dh nj Kkr djks\

(a)
1

30 %
3

(b)
1

32 %
3

(c)
2

30 %
3

(d)
1

33 %
3
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Installment

8. A man borrowed a sum of Rs 6000 from a bank

at simple interest. He paid Rs 2500 after 4

years and paid Rs 4325 more after 5th year and

clears his dues. Find the rate of simple inter-

est per annum.

,d O;fDr us ,d cSad ls lk/kj.k C;kt ij 6000 #i;s
dh jkf'k m/kj yhA mlus 4 lky ckn 2500 #i;s dk Hkqxrku
fd;k vkSj 5osa o"kZ ds ckn 4325 #i;s dk vfrfjÙkQ Hkqxrku
fd;k vkSj viuk cdk;k pqdk fn;kA çfr o"kZ lk/kj.k C;kt
dh nj Kkr dhft,A

(a) 3% (b) 4%

(c) 3.5% (d) 2.5%

9. Rs 11500 becomes Rs 16100 in 4 years at the
rate of 10% interest per annum. If this sum is
returned in 4 equal yearly installments Then
find the installment.

11500 #i;s 10» okf"kZd C;kt dh nj ls 4 o"kks± esa 16100
#i;s gks tkrs gSaA ;fn ;g jkf'k 4 leku okf"kZd fdLrksa esa
okil dh tkrh gS rks fdLr Kkr djsaA

(a) Rs 3500 (b) Rs 3600

(c) Rs 3800 (d) Rs 3400

10. A person borrows Rs 10 and return in 11 monthly
installment of Rs 1 for next 11 months. Find the
rate of simple interest annually.

,d O;fDr 10 #i;s m/kj ysrk gS vkSj vxys 11 eghuksa ds
fy, 1 #i;s dh 11 ekfld fdLrksa esa Hkqxrku djrk gSA
lk/kj.k C;kt dh okf"kZd nj Kkr dhft,A

(a)
9

20
11

(b)
9

21
11

(c)
9

19
11

(d)
9

22
11

1.(a) 2.(d) 3.(a) 4.(d) 5.(a) 6.(a) 7.(d) 8.(a) 9.(a) 10.(b)

Answer Key



M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan Sir (Excise Inspector) Selected gS Selection fnyk,axs  3

Installment

SOLUTIONS
1. (a)

Annual installment =
(t – 1)

1
2

Due deb  

00 t r

t 00

t

 1





 

9048 100
=

(5 – 1)
100 5 8 5

2



  
  = 1560

'OR'

100p + 108p + 116p + 124p + 132p = 9048 × 100

 580p = 904800

 p = 1560

2. (d)

Installment  
100 A

=
(t – 1)

100t Rt
2





100 1720
 

5 4
100 4 (4 – 1)

2





 

100 1720
= = 400

400 30





3. (a)

A.T.Q,

Total Interest = 2200 + 1400 × 5 – 9000 = 200

So,

6800 1 R 5400 1 R 4000 1 R
200 =

12 100 12 100 12 100

     
 

  

2600 1 R 1200 1 R

12 100 12 100

   
 

 

R
 200 = [20,000]

1200


1200 200
 R = = 12%

20,000




4. (d)

P I A

100 20 120

200 20 220

300 0 300

640

1 2 3I   I   I

   1  2   3

 
 
  



So, 
130

640 unit 16000
100

 

Then 2nd installment

 200 unit  6500

5. (a)

    Cash 4400

2000Pay
  

Remaing 2400

Amount







R 1
 2400× = 40

100 12
 

R = 20%

6. (a)

P I A

100 20 120

100 15 115

100 10 110

100 5 105

100 0 100

550

550  770

100  140

7. (d)

Installment amount = 10,000 – 2000  = 8000

 1000 = 8000 × 
R 1

100 12
  + 7000 × 

R 1

100 12


+ ......... + 1000 × 
R 1

100 12


 1000 = 1000 × 
R 1

100 12
  [8 + 7 + 6 + 5 + 4 +

3 + 2 + 1]

 1200 = R [36]

1
 R = 33 %

3

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Installment

8. (a)

Principle = 6000 + 6000 + 6000 + 6000 + 3500

= 27500

Total amount paid = 2500 + 4325 = Rs 6825

S.I = 6825 – 6000 = Rs 825

27500 r 1
825 =

100

 


825
 r = = 3%

275


9. (a)

P I A

I 100 30 130

II 100 20 120

III 100 10 110

IV 100 0 100

460

460unit 16100

Then,

16100
100 unit 100 = 3500

460
 

10. (b)

R (10 9 8 7 ...... 1)
 1 = 

12 100

     




R 55
1 =

1200



240 9
R = = 21 %

11 11

......-------......
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